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B.Ed. SPECIAL EDUCATION (BEDSE) 

Term-End Examination 
December, 2015 	t;') 0 0 1 9 

MMDE-017 : TEACHING OF SCIENCE 

Time : 2 Hours 	 Maximum Marks : 50 

Note : All questions are compulsory. Marks are allotted against 
each question. 

1. 	Answer any seven of the following questions : 
2x7=14 

(a) Explain the purpose of Science Education. 

(b) Is nature of science dynamic ? How ? 

(c) How student - centred approach is better 
than teacher - centred approach to learning 
science ? 

(d) What are the things that are taken care of 
while planning learning of science ? 

(e) Write the safety rules that need to be 
followed in science laboratory. 

(f) Highlight the importance of different 
teaching aids in teaching science. 

(g) Sketch the importance of scientific excursion 
in teaching science. 

(h) Define the Chemical Bond Approach (CBA). 

(i) What is the difference between 
measurement and evaluation ? 

(j) Explain Biological Science Curriculum 
Study (BSCS). 
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2. 	Answer any three of the following questions : 3x4=12 
(a) Derive the three equations of motion. 
(b) A bus accelerates uniformly from 54 km/h 

to 72 km/h in 10 s. Calculate : 
(i) Acceleration 
(ii) Distance covered by the bus in that 

time. 

(c) What are the defects of vision ? How they 
are corrected ? 

(d) Explain Thermal Expansion with the help 
of examples. 

(e) How does the formation of Prostar and 
White Dwarf Star take place ? 

(f) Find the length of the wire of diameter 
1 mm needed to prepare a coil of resistance 
of 22 Ohms. Given specific resistance of the 
material = 6.6 x 10 - 7  Ohm meter. 

3. 	Answer any four of the following questions : 4x3=12 
(a) What is modern periodic law ? Write the 

merits of the modern periodic table. 
(b) How do valency and metallic properties 

change along a group and a period ? 
(c) What are co-ordinate compounds ? 
(d) Write the chemical formula of the 

compound resulting from the combination 
of an element X atomic no. 13, with the 
element Y atomic no. 17. 

(e) Describe the process of reduction of metal 
oxide to metal. 

(f) Why white phosphorus is more reactive 
than red phosphorus ? 

(g) Write down three uses of carboxylic acids. 
(h) What are the methods of preparation of 

Ethers ? 
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4. Answer any three of the following questions : 3x4=12 
(a) Differentiate between Prokaryotic and 

Eukaryotic cells. 
(b) What is the significance of meiosis ? 
(c) How do leaves help in the process of 

photosynthesis ? 
(d) Explain the stages of food production 

management in brief. 
(e) What is the impact of exploitation of natural 

resources on environment ? 
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